%\\ FILL IN THE BLANKS WITH THE PRESENT SIMPLE OR THE PRESENT \%\\
%k CONITNUOUS OF THE VERBS IN BRACKETS: \ N
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\ 1.- Our sales rep (TRAVEL) to Belfast right now.
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A 2- This compnay (EMPLOY) 2,500 people. A
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\}& 3- She (not LIKE) working at the weekends \%
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Q‘% 4.- Our main supplier (LAUNCH) a new offer this month., Q\\K

Ny 5.- John always (CYCLE) to the office. N
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N 6.- Laok! Out sh (RISE)! N
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3 7.- Fortunately, the price of essential goods (DECREASE)
AN A

N N
Q_\\\ 8.- Our staff generally (COMPLAIN) when they work extra time. %
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NN 9.- She (TAKE) a maternity leave these days. QQ\\\\
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N 10.- Listen! Somebod KNOCK) on the door! AN
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N 11.- My brother (RUN) a small company. N
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_ Y 12.- The economy (IMPROVE) at the moment. %
A A

& . : h .
X 13.- They (LAUNCH) an advertisement campaign once a year. i
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% 14.- We hardly ever (TALK) to the German engineers. &,
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% 15.- The cost of raw materials (INCREASE) at this moment. '53\3&
%\_‘\\ 16.- Some companies (CLOSE) down due to the price of electricity. %f\
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\\\\% 17.- Our main competitor (HAVE) two subsidiaries in France. \QA
Qﬁ 18.- A company often (EXPAND) its market share by lowering prices. Q\\k‘

Ny 19.- Philip often (STAY) at this hotel whenever he goes to London. E
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20.- My company (PAY) €2,500 a year to this advertisement agency. ‘32
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